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Name @% Alg2CC Unit 12 Test Review

la) Pete's Pizza has 3 cheese choices. There are meat choices of pepperoni, sausage, bacon
or no meat. Vegetable choices include none, mushrooms, green peppers or onions. Cr'usT
choices include original, thin or pan. How many different ptzzas can be made2—"",""
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b) Pete just now ran out of mushrooms. How many fewer pizza types Cﬂnbe ‘
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specml characters) if the first character isan upper case letter, the an is a lower case
letter and the last character isanumber. 2, o 2l x {2 % /o
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3a) What are the 3‘Ways to repr‘esen‘r a probability? 5 9
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b) Graph the interval on a nunffber line represenﬂng all p0551b|e pr‘obabaln‘y values.
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b) How many outcomes are in Thls sample space? |7)_ ( (p \}\Z>
c) Event A is getting an even number. Event B is getting a number greater than 3.

De‘rer‘mme the following probabilities. /
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d) Event C is getting an odd number EvemL D is flipping a tails. Determine the following

probabilities. b
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5a) The P(E) and the P(no‘r E) are called Con f*\{ [R18Y (spelllng countst)
b) Probabilities that are [part a answer]__( omple Wkﬁéﬂ[ S always sum to
c) If the P(E) = .35, Then the P(E) : (o -
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6a)Two events, A and B, are mutually exclusive or dis sjoint. Draw an appropr‘lafe Venn

diagram. ( ne  bot ff*\ ) .
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b) Even with no numbers in this Venn Diagram, wha’r pr'obabuh‘ry or pr‘obab:h‘rles could you
-
calculate and what is it* 7 L /ﬁ\ G (,é? co ) = D
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7a) The two-way table provides data about ?\:C?ur{f izgu}ar" TOTAL
300 randomly chosen people who visit an Purchases misston mission 180

t park. Complete the table. urchase
amusement park. Complete the table R i tickets (ﬁ ( /()»O
b) Determine the probability, as a fraction Doeshno‘r
and 3 decimal places, that a visitor to the Pfg‘c ase )720 80 AQ««'Q
amusement park purchases ride tickets ride tickets :
given the visitor pays for discount TOTAL 100 200 5@[}
admission.
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c¢) Determine the probability, as a fraction and 3 decimal places, that a visitor to the
amusement park pays for r'e%tllar admission given the visitor purchases ride tickets.
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d) Determinethe probability;asa fraction and 3 decimal places, that a visitor purchases

ride tickets. @( @) = g/O/EQﬂ)W (/‘(?)Qj

e) Determine and justify if the events purchases ride tickets and pays for discount
admission are independent.

O(R) =R RIL) 1 &V eits are Todip,

8. Let a Venn Diagram represent students in a classroom. Some have brown hair (B). Som-
have hazel colored eyes (H). Some have both and some have neither. On the Venn
diagrams provided, shade the region representing students who

a. have brown hair. b. do not have brown hair c. have brown hair and hazel eyes

d. have hazel eyes e. do not have hazel eyes f. have brown hair or hazel eyes

g. have neither brown hair nor hazel eyes h. have hazel eyes but not brown hair




9. Consider a dust speck where a community of people live and are called Whos. 80% of the
Whos like green eggs, 60% like ham, and 48% like green eggs and ham. Complete the
hypothetical 1000 two-way frequency Table.L! A1 f ,/ /
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Whos who | Whos who TOTAL
do not like ham
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For a - h, find the followmg pr‘obabllmes as a fraction and a percent.
. It
a. A Who likes green eggs. /FZV’“‘/”) >

b. A Who likes ham. /fémz (0

~ | Whos who like
é | green eggs
[ ' Whos who do not
' Ul like green eggs,
TOTAL
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c. A Who likes green eggs and ham. %u Ly
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d. A Who likes green eggs or ham. _/p/0) /

el P
e. A Who likes green eggs and does not like ham. @(ﬁ?”,} , PR ) /6
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f. If a Who Iikeé%\am, this Who does not like green eggs. Jtor) 490/0
g. Descrlbe The complemen‘r of parT (@) and find its probability. _ }ff}wfﬁ z;“»,}f /;f{
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h. Describe the complement of part (b) and find its probability. .28
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i. Using one or more conditional probabilities, determine and justify if the events a Who
//kes green eggs and a W/vo //kes ham are independent.
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10. In alarge community, 68% of the people are adults (A), 72% of the people have
“traveled outside the state (T), and 11% are not adults who have not traveled outside the
state. Complete a Venn Diagram by writing the probabilities as decimals in the appropriate

regions.
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a. What is the P(A' )9 b. What is the P(T -)—) |
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e. What is the P(AﬂT )? ‘»,,,g\
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f. What is the P(TNA')?
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g. Verify that your Venn Diagram probabilities sum to 1 or 100%
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h. Are the 2 events people are adults and peop/e have traveled outside the state
independent? Justify by usm T he multi ion rule of mdependence
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